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——A | ppL TDH3 PDAL RDN18 HEM2 RPN2 KRE11 FRP2 TFC1 ALG9  TAF10 UBC6
—a—B IPP1 TDH3 PDA1 HEM2 RPN2 RDN18  KRE11 TEC1 FRP2 ALG9  TAF10 UBC6
—4—C | pp1 RDN18 TDH3 PDAL - RPN2 HEM2 KRE11 FRP2 TAF10 UBC6  ALGY TFCL
——D| pp1 TDH3 RPN2 PDAL HEM2 UBC6 KRE11 FRP2 TFC1 ALG9 RDN18 ' TAF10
—%—E IPP1 TDH3 RPN2 PDAL HEM2 FRP2 KRE11  RDN18 & TAF10 UBC6  ALG9 TFC1
—o—F TDH3 TAF10 RPN2 HEM2 PDAL KRE11 ALG9 FRP2 RDN18 = TFC1 UBC6
—— G| Rrpnis TDH3 IPP1 - TAF10  KRE1l RPN2 PDA1 HEM2 ALG9 FRP2 TFC1 UBC6
—0—H | T1pH3 - IPP1 HEM2 PDAL RDN18 FRP2 ALG9 RPN2 TAF10 KRE1l = TFC1 UBC6
—0—1| HEM2 PDAL RDN18 IPP1 - TDH3 FRP2 KRE11 | TAF10 TFC1 RPN2  ALGY UBC6
——J RDN18 TDH3 HEM2 IPP1 UBC6 TFC1 PDAL FRP2 ALG9 RPN2  KRE11l TAF10
—0—K | TDH3 IPP1 HEM2 RDN18 PDAL RPN2 ALGY TAF10 FRP2  KRE1l = TFC1 UBC6
—A—L | TDH3 HEM2 IPP1 - PDAL RPN2 FRP2 RDN18  KRE1l =~ TAF10  TFC1  ALGY9 UBC6
TDH3 IPP1 HEM2 RDN18 UBC6 TFC1 TAF10 ALGY KRE11  FRP2  PDAl RPN2




